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Part I Dictation G
Listen to the following passage. Altogether the passage will be read to you four
times. During the first reading , which will be read at normal speed , listen and try to
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understand the meaning. For the second and third readings, the passage will be
read sentence by sentence, or phrase by phrase, with intervals of 15 seconds. The
last reading will be done at normal speed again, and during this time, you should
check your work. You will then be given 2 minutes to check through your work once
more.

Please write the whole passage on ANSWER SHEET ONE. Now listen to the

passage.

Part II Listening Comprehension

In Sections A, B and C you will hear everything ONCE ONLY. Listen carefully and
then answer the questions that follow. Mark the correct answer to each question on
your answer sheet.

Section A Conversations @)
In this section you will hear several conversations. Listen to the “conversations
carefully and then answer the questions that follow.

Questions 1 to 3 are based on the following conversation. At the end of the
conversation , you will be given 15 seconds to answer the questions.

Now listen to the conversation.

1. Which is NOT Mr. Lewis’ purpose of the visit?

A) To visit friends. B) To give concerts.
C) To vacation. D) To give private lessons.
2. What kind of cello did Mr. Lewis use when he was eight?
A) A full-sized cello. B) A half-sized cello.
C) A two-thirds-sized cello. D) It is not mentioned.
3. What does the conversation say about Mr. Lewis’ cello?
A) He always takes it with him. B) It was made by his uncle.
C) He borrowed it from his uncle. D) He got a seat free for his cello.

Questions 4 to 7 are based on the following conversation. At the end of the
conversation, you will be given 20 seconds to answer the questions.
Now listen to the conversation.
4. What does Mark think of cricket?
A) It is exciting. B) There is a lot of fun.
C) It is a hard game. D) It is a slow game.
5. A batsman in cricket does all the following EXCEPT

« D
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A) waiting for the other batsman. B) standing in front of the wicket.
C) trying to hit the ball. D) running to change positions.
6. What does the bowler do?
A) He runs after the ball. B) He changes positions.
C) He throws the ball. D) He tries to hit the ball.
7. What do the speakers think about cricket and baseball?
A) Both prefer cricket to baseball. B) Both prefer baseball to cricket.
C) Mark disagrees with John. D) It is not clear from the conversation.

Questions 8 to 10 are based on the following conversation. At the end of the

conversation , you will be given 15 seconds to answer the questions.

Now listen to the conversation.

8. What conclusion can we draw about Mike before he went to the camping school?
A) Mike was eager to do the course. ~ B) Mike had done outdoor activities.

C) Mike enjoyed life in the open. D) Mike was reluctant and timid.
9. Mike participated in all the following activities EXCEPT

A) hiking. B) canoeing.

C) swimming. D) camping.

10.Which of the following words is most appropriate to describe Mike after the
camping school? (

A) Independent. ‘ B) Strong.
C) Determined. D) Persistent.
Section B Passages e

In this section , you will hear several passages. Listen to the passages carefully and then
answer the questions that follow.
Questions 11 to 13 are based on the following passage. At the end of the passage,
you will be given 15 seconds to answer the questions.
Now listen to the passage.
11. What happened on January 27th, 19677
A) Three men were injured during a fire.
B) One man died during the fire accident.
C) A fire started inside a spaceship.
D) A spaceship was launched.
12. What happened in 19817
A) The space programme was suspended.
B) Five men were injured during an accident.
C) The accident occurred before the rehearsal.
D) No accident happened that year.
13. What does the passage say about accidents?
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A) Accidents are unavoidable. B) Accidents can be avoided.
C) Human beings are always careless. D) There should be more precautions.

Questions 14 to 17 are based on the following passage. At the end of the passage,
you will be given 20 seconds to answer the questions.

Now listen to the passage.

14. BBC’s weather forecast is a programme

A) seldom watched. B) little known.
C) new. D) popular.
15. Weather observations come from all the sources EXCEPT
A) computers. B) satellites.
C) the ground. D) radar.
16. What does the passage say about BBC’s forecasters?
A) They read from a script. B) They are professionals.
C) They use a map for presentation. D) They care about their clothes.

17. What does the passage say about British television viewers?
A) They remember what they saw on weather forecasts.
B) They like talking about weather instead of watching.
C) They pay more attention to the style of the presenters.
D) They watch and remember what is necessary.

Questions 18 to 20 are based on the following passage. At the end of the passage,
you will be given 15 seconds to answer the questions. Now listen to the passage.
18. Which is NOT showing an increase this year?

A) Number of tourists. B) Holiday travelers.

C) Shopping. D) Dining and entertainment.
19. What does the passage say about this year’s business travelers?

A) There are fewer business travelers.

B) There are more business travelers.

C) The number remains the same as last year’s.

D) It is not mentioned in the passage.
20. Which is the largest single visitor expenditure?

A) Hotel accommodation. B) Meals.
C) Shopping. D) Entertainment.
Section C News Broadcast 9}

In this section, you will hear several news items. Listen to them carefully and
then answer the questions that follow.

Questions 21 to 23 are based on the following news. At the end of the news item,
you will be given 15 seconds to answer the questions.

v 4
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Now listen to the news.
21. Who sponsored the conference on population?

A) Cairo. B) The United Nations.

C) The World Bank. D) The World Health Organization.
22. The current rate of annual increase in the world population is about

A) 9 million. B) 5.7 million.

C) 90 million. D) 20 million.

23. Which of the following concerning the document is NOT true?
A) The document will cover the next two decades.
B) The document will win support from the delegates.
C) The document will serve as a guideline.
D) The document will be completed after the conference.

Questions 24 and 25 are based on the following news. At the end of the news item,
you will be given 10 seconds to answer the questions.

Now listen to the news.

24. Where did the storms first strike?

A) The eastern U. S. . B) The Gulf of Mexico.
C) The Canadian border. D) Some areas in Cuba.
25. The storms have resulted in the following EXCEPT
A) death and damage. B) disruption of air services.
C) destruction of crops. D) relocation of people.

Question 26 and 27 are based on the following news. At the end of the news item,
you will be given 10 seconds to answer the question.
Now listen to the news.

26. The Senate bill aims to within the next seven years.
A) end the country’s huge public debts B) cut government spending on health
C) end the large budget deficits D) cut some educational programmes

27. Congressional leaders have to work out a compromise because
A) a similar bill has been passed.
B) the President might oppose the plan.
C) the Senate bill was passed by 57 to 42.
D) the White House is facing opposition.
Question 28 is based on the following news. At the end of the news item , you will be
given 5 seconds to answer the question.
Now listen to the news.
28. Australia reacted towards the French test by
A) recalling her ambassador to Paris.  B) describing the test as insignificant.
C) expressing her regret. D) expressing disapproval.
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Question 29 and 30 are based on the following news. At the end of the news item,
you will be given 10 seconds to answer the question.
Now listen to the news.

29. The space shuttle Discovery completed a mission upon its return to
Kennedy Space Centre.
A) 11-day B) 94-day
C) 10-day D) 49-day
30. When the spacecraft was going to land,
A) it produced a lot of noise. B) there were scattered showers.

C) people could see it high in the sky. D) people could neither see nor hear it.

| = #%Rrsw |-

Part I Dictation
The Railways in Britain

The success of early railways, (1) such as the lines between big cities, /
(2) led to a great increase in railway building in Victorian times. / Between 1835 '
and 1865, about 25, 000 kilometres of track (3) was built, / and over 199 railway
companies were (4) created. / Railway travel (5) transformed people’s lives. /
Trains were first (6) designed to carry goods. / However, a law in the (7) 19th
century forced railway companies to run one cheap train a day, / (8) which
stopped at every station (9) and cost only a penny a mile. / Soon working class
passengers found they could afford to travel by rail. / Cheap day excursion trains
became popular and seaside resorts grew rapidly. / The railways also provided
(10) thousands of new jobs: / (11) building carriages, running the railways and
repairing the tracks. / Railways even (12) changed the time. / The need to run
the railways on time (13 ) meant that local time was abolished / and clocks
showed the same time all over the country.
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